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Industrialisation:
Why does it matter?




Build-up of
iIndustrial capacity

Manufacturing in South Africa

Manufacturing, % total GVA, % of total employment
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Pattern of-ahelustrialisation

Erosion of
industrial capacity




Labour Productivity Manufacturing Sector Labour Productivity SA manufacturing vs China total
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1990- 2005
South Africa: labour productivity dropped -50%. Total employment doubled (extensive industrialisation)
= 2.5% annual GDP growth

China: manufacturing labour productivity increased by more than 500% (intensive industrialisation) =

12% annual GDP growth
¢
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Why does this matter?

Industrialisation is unquestionably linked to development

Additional

Decent job creation
Domestic skills retained
On the job training
Stronger institutions and
governance

Promotes technological
adoption shift in culture

To o o Do Do

SA growth vs index of similar NICs S 3746
1990 D 2023(f) K,

$ 1262

= = |ndex w China
=|ndex w/o China J

S HF P F OIS HOD
> B AT A P

RO IS & D N A D
PSP

N N A B
\) M B
o PR DD PR D

I A ] oo A DS
TS S S S




Improving industrialisation:
Industrial Revolutions




Industrial Revolutions
Some introduction
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Not a wholesale adoption of new technology. 10,000 - s
Rather they come into effect gradually and are then — % 4500
continued with further innovation. . 400
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Industrial Revolutions
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Worker productivity and efficiency

Market coordination and expansion

Resources allocated optimally
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Benefit to consumers




